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Warmup 5/(The second prime number) 

1) Multiply:   24 ∙
5

4
 

 

 

 

2) Solve for a:     
3

5
𝑎 − 2 = 6 

Created by Mr. Lischwe 

GET: 
• Calculator 
• Regular whiteboard 
• Marker/Eraser 

ALEKS – ENRICHMENT TODAY! 

1st Period 

Andrea – 30 

Saleban – 18 

Joseph – 35 

Jackson – 29 

Najma – 29 

May – 30 

Sam – 35 

 

 

 

5th Period 

Seiki – 16 

Ana – 28 

Troy – 76 

Makhyah – 90 

Sam – 61 

Sydney – 59 

Allison – 37 

Camryn – 34 

Brieanna – 60 

Caroline – 39 

Dayonna – 80 

Alexandra – 18 

Aza – 52 

6th Period 

Rachel – 30 

Kenya – 17 

Summer – 41 

Viggo – 50 

Jackson – 30 

Khamari – 73 

 

 

ALEKS during Enrichment 

 

Quiz is now FRIDAY 

• Solving Equations w/ More than One Variable 

• Applications: graphing, formulas 

Which of these could be the 
graph? 
•𝟏𝟖 − 𝟐𝒚 = 𝟕𝒙 

A B C 

𝒚 = −
𝟕

𝟐
𝒙 + 𝟗 

A 

Today: Solving FORMULAS 

 



5/3/2017 

2 

Area of a Rectangle: 

𝐴 = 𝑙𝑤 

 
 Solve for l. 

 

 

 Solve for w. 

𝑨

𝒘
= 𝒍 

𝑨

𝒍
= 𝒘 

Pythagorean Theorem 

𝑎2 + 𝑏2 = 𝑐2 
 Solve for c. 

 

 Solve for a. 

 

 Solve for b. 

a 

b 

c 
𝒄 = 𝒂𝟐 + 𝒃𝟐 

𝒂 = 𝒄𝟐 − 𝒃𝟐 

𝒃 = 𝒄𝟐 − 𝒂𝟐 

Pythagorean Theorem 

 Use the “solved for b” formula to find the missing side: 

 
𝒃 = 𝒄𝟐 − 𝒂𝟐 

17 

b 

25 

𝒃 = 𝟐𝟓𝟐 − 𝟏𝟕𝟐 

𝒃 ≈ 𝟏𝟖. 𝟑 

Area of a Triangle 

•𝑨 =
𝟏

𝟐
𝒃𝒉 

1. Solve the formula for b. 

 

2. Find the base if the area is 80 ft2 
and the height is 12 ft. 

𝟐𝑨

𝒉
= 𝒃 

𝒃 = 𝟏𝟑. 𝟑  𝒇𝒕 

𝟐 ∙ 𝟖𝟎

𝟏𝟐
= 𝒃 

Volume of a Cylinder 

𝑽 = 𝝅𝒓𝟐𝒉 

 
• Find the volume of a cylinder with a radius of 

4cm and a height of 9 cm. 
 

Some of you struggled with problems like… 

 

• If the volume of a cylinder is 800 cm3 and the radius is 
10 cm, find the height. 

 

 

SOLVE THE FORMULA FOR h. 

𝑽 = 𝝅𝒓𝟐𝒉 
 𝝅𝒓𝟐 𝝅𝒓𝟐 

𝑽

𝝅𝒓𝟐
= 𝒉 

 

If the volume of a cylinder is 800 cm3 and the 
radius is 10 cm, find the height. 

If the volume of a cylinder is 768𝝅 cm3 and 
the radius is 8 cm, find the height. 

𝟖𝟎𝟎

𝝅 ∙ 𝟏𝟎𝟐
= 𝒉 

 

𝒉 ≈ 𝟐. 𝟓𝟒𝒄𝒎 
 

𝟕𝟔𝟖𝝅

𝝅 ∙ 𝟖𝟐
= 𝒉 

 

𝒉 = 𝟏𝟐 𝒄𝒎 
 

http://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwimzaSegr_MAhXIMSYKHbX9D6sQjRwIBw&url=http://www.ducksters.com/kidsmath/finding_the_volume_surface_area_of_a_cylinder.php&psig=AFQjCNGSZNAWTbjiWgrF1zw7AvztbjGJVQ&ust=1462403096379775
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1. Solve the cylinder formula for r: 
𝑽 = 𝝅𝒓𝟐𝒉 

2. Use your new formula to find the radius 
of a cylinder with a volume of 1250 in3 
and a height of 30 in. 

 
 

 

 

 

SOLVE THE FORMULA FOR h. 

𝑽

𝝅𝒉
= 𝒓 

 

𝟏𝟐𝟓𝟎

𝝅 ∙ 𝟑𝟎
= 𝒓 

 

𝟑. 𝟔𝟓 𝒊𝒏 ≈ 𝒓 
 

Homework 

• Review Worksheet 


